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Black to play and win (3 moves):
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Many chess players have stories of travel and accommodation problems at tournaments but few could rival the nightmarish experiences of the sixteen young Australians, from Under 8 to Under 18, who competed in the recent World Junior Championships in Batumi, Georgia.  Problems included lost and delayed baggage, travel from Turkey along unsealed roads with a nodding coach driver, unfriendly guards and visa troubles causing lengthy delays at the Georgian border with one contestant needing an ambulance. Then the discovery that the hotel building was not complete with the team enduring exposed electrical wires, leaking roof and a lack of running water.  However everyone tried to make the best of a bad job and performed as well as possible.  Best results were gained by Raymond Song (7/11 in Under 12), Sally Yu (6.5 in Under 12 Girls) and Cedric Koh (6.5 in Under 8).

Today’s  game comes from the recent 4th Staunton Memorial, an 11 round All-Play-All won by Netherlands GM Ivan Solkolov (9/11), followed by Michael Adams (Eng) and Jan Timman (Neth) both with 8.5.  The game shows the English teenager David Howell going all out to defeat an experienced GM who sacrifices pawn after pawn to drive the opposing king all over the board:


IVAN  SOKOLOV   -   DAVID  HOWELL



4th Staunton Memorial



Grunfeld Defence:  Exchange Variation



 1    d4  
Nf6 


 2    c4  
g6


 3    Nc3  
d5 


 4    cxd 
Nxd5



 5    e4  
Nxc3 


 6    bxc3 
Bg7



 7    Qa4+ 
Qd7 


 8    Qb3 
0-0



 9    Nf3 
b6 


10   Be3 
Bb7



11   Bd3 
c5 


12   0-0  
Nc6



13   Rad1 
Na5  


14   Qb1 
cxd



15   cxd 
e6  


16   h4  
f5



17   Bb5 
Qd6 


18   d5!? 
exd



19   e5! 
Bxe5!(a)  

20   Nxe5 
Qxe5



21   Bd4 
Qe4 


22   Qc1! 
Qxh4



23   Qc7 
Rf7 


24   Qe5 
Re7



25   Qh8+ 
Kf7 


26   Qg7+ 
Ke6



27   Rfe1+ 
Kd6 


28   Be5+ 
Kc5



29   Bd4+ 
Kd6 


30   Rxe7 
Qxe7



31   Qh6 
Bc6 


32   Bc3(b) 
Kc7



33   Bb4! 
Qd7?(c) 

34   Ba6 
Bb5



35   Bxb5 
Qxb5 


36   Bxa5 
Qxa5



37   Qxh7+ 
Kc6 


38   Rc1+ 
Kb5



39   Qb7! 
Rh8 


40   Rb1+ 
Kc4



41   Qc6+ 
Kd3 


42   Rd1+ 
Ke4



43   Qe6+ 
Kf4 


44   Rd4+
resigns(d)
a)  Leaving himself weak on the black squares is preferable to allowing White a strong passed e pawn.

b)  Threatening 33 Bb4+.

c)  Black is over-ambitious: 33…Qxb4! leaves White nothing better than 34 Qxh7+, Kb8  (34…Kd6?  35 Qxg6+, Kc5  36 Bxc6, Nxc6  37 Rc1+, Kd4  38 Qxc6 winning) 35 Qg8+ with perpetual check.

d)  44…Kg5  45 Qe7+, Kh6  46 Rh4#.

SOLUTION:  1…Rg2! (threatens 2…Nf4# and if 2 Kxg2, Ne3+ / 3…Nxd1: White can give back his queen for rook and knight but will lose a king and pawn ending – 2 Qxd5, Rxh2+ or 2 Qf1, Nf4+  3 Qxf4, gxf4  4 Kxg2, e5)

